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i Note | Four possible answers A, B, Cand D to each question are given. The choice which you think is correct,
, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more
| bubbles will result in zero marks in that question
QUESTION NO. 1 DOK ~2Y | 1.2y
The founder o; neo-classical school of thought is : - JL 5’} JLED’) -1
Pigou ,E (D) Keynes L (C)  Marshall J’/L(B) Adam Smith “"(1.! {(A)
Utility of the last unit of a commodity consumed is called : - e wb ¥ 36 ST s Ll S Je ng J( 2
Marginal utility »b/ F"’ (D) Positive utility wile2 (C)  Negative utility vl ¢’ (B) Total utility wbf J (A)
Fung:tional relationship between price and quantity demand is : - Irl;. .".E J‘” L ..JP;U»" y .:.’E -3
Positive «.? (D) Increasing d/." (C) Inverse ;j;“ (8) Direct = ss(A)
The quantity of a commodity existing in the ware house is called : -4 Jlkf Hap J P ANY 2NV (l;f 4
Utility wil (D) Demand ¥ (C) Stock &5 (B) Supply »» (A)
The easy application of law 6f decreasing returnison: - ¢ b JUbt Uy ¥ J J.'Cw g | 5
Agriculture £ =#.; (D) Housing 4@!}’ (C) Trade 4wddf (B) Industry 4w=s (A)
| The thange in total cost for the production of every new unitis: - #Cfd;i S e J; Lfl,.c.; Jb’? Gr| 6
Marginal cost J/wfa (D) Variable cost Jle > (C) Average cost i ksl (B) Total cost ide J (A)
’ 2 monopolist cantrols the supply : -4 bx J;f"(/' s f s ot | -7
Absolutely Nil u:‘fgﬁ& (D) - More w»ii (C) Totally J; (8) partially (22 (A)
A firm is at equilibrium when : - Aot & it? S 1 r} -8
MR=P ot =dmf¥ (B) TR=MR s = & F (A)
MR = MC e ¥ = e ¥ (D) P=MC Jiwf¥ = =d (C)
Transfer payments are : ULl g | 9
Unemployment allowance u’sm M 354 (D) Prices ;f'! (C) Salaries wlf (B) Wages L2 (A)
The concept of national income was presented by : -Vu‘.'? w VLLT d; <10
Adam Smith i’(i_;i (D) Pigou :E, {C) Keynes L (8) Marshall f;l. (A)
The relationship between the value of money and quantity of money is: -4 Ju ¥ iipr 2 ,u"' A1
Increasing (5/,,’F (D) parallel (it5* (C) Inverse U~ (B) Direct = oz (A)
It is more useful in inflation : e bl L app | 12
Deficit budget &£ K< \2 (B) Surplus budget <£ 6 (A)
Domestic budget JJU (D) Balance budget &£(5it#(C)
The phases of trade cycle are : Ut st At z /? (L? 13
2 (D) 4 (C) 3 (B) 1 (A)
Balance of payments includes : Y J_n JI} 1Y 4 (?bl o | -14
Visible goods #* J/ (B)  Visible and invisible goods /¥ d/ﬁ,' o J/ (A)
Invisible goods #3122 (D) Services =4z (C)
LSS e F T e ltd sl T o | 15
A branch of economics which deals with income and expenditure of a government is called :
Permanent finance cyvt(}r" (8) Private finance v:ak‘t(j(l\)
Public finance =LK/ (D) People’s finance =Y WJir (C)
O A
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Q. No. 2 Write short answers to any Six of the following 2x6=12 _.g!:.ym AL siialtg < Jl Z-/QJ')’

What is means by Social welfare in Marshall’s definition ?

How consumer attain equilibrium in law of equi-marginal utility ?
What is difference between demand’s extension and rise ?

What is meant by Zero utility ?

What is meant by joint supply ?

Differentiate between point and Arc elasticity.

What is meant by normative science ?

Define the law of Diminishing Marginal Utility.

Write down four assumptions of law of supply.
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Q. No. 3 Write short answers to any Six of the following 2x6=12

ez #L sijalby < 373 AU

‘Explain the concept of opportunity costs.

What is meant by Labour ? ‘

Explain the concept of marginal revenue.

What is meant by variable costs ?

What is meant by Law of increasing costs ?

What is meant by firm’s equilibrium under perfect competition ?
Explain the concept of Normal Loss.

Write four Functions of entrepreneur.

What is meant by vertical mobility of Labour ?
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Q. No. 4 Write short answers to any Six of the following 2x6=12

-’J@Uﬁ/gﬁ sty < J/4-/.2Jlr’

Explain the concept of National income.

Write methods to measure national income.

Write Fisher’s equation of exchange.

Write four effects of deflation.

Make a diagram of the phases of trade cycle.

Write four assumptions of comparative cost theory.
Write four causes of deficit balance of payments.
What is meant by Tax ?

Write four points of economical importance of Zakat.
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Part-l pgasan

NOTE : Attempt any three questions from this part  3x8=24 .27 =iz £ cfleugm = (' £ o y1is s

Is economics is a Science or Art ? Explain it with arguments. 2 ol o Ji e - ,J' =B | S-ﬁ}J'Q“

?ﬁ:.t'n{,.”‘f(u-ﬂ‘l V2 _i(_- rl/-c” ul AP =olss J(}‘b[‘(u)lf 6-/()')“

Explain the law of increasing returns with schedule and diagram. Also discuss its application.

Explain the firm’s equilibrium under monopoly in short run.

Feo Sl £ f L F o F Lkt | 7_ZF Iy

Explain the Quantity Theory of money with the help of an example.

-q’{;. 5y JJ@ L eolos Ju’;lﬂ g}: S-ﬁidly

Explain the international trade theory of compérative cost. .2.{ =olos J Py (,h!’o o }' Lk Ui ot 9_ /,ZJ' >
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